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But the Braysoh taught that in a settled - > ;82 95K 22 RN
place [he should not spread out the nets] even for a hundred Mil

OVERVIEW

The X723 cited a 71wn that one may not set up traps for doves within thirty 07 of
the 21w°.2 The X3 asked that we learnt in a X012 that in a 27> one should not set
up traps for doves even for one hundred 7°»n. This (seemingly) contradicts the cited
mwn which places a limit of (only) thirty 9™, not 2°» nx&n. Our Moo discusses this
question, considering that this X072 may be internally inconsistent.

nvoIN asks:
= 2)Y2) WI MNNT PHYT NPYD INNT 310N

It is astounding! For what did we assume (in this question) is the meaning of

the word '21293Y' in the xn>12 -
= SPNYNY 15 RPYTIND D9 NN IT2AN 45 ON 1YW YP¥N »9P ON

If the city is called a 292> (and we are not permitted to put up traps 77 X2 12°5K
from a city), so then if we assume that when the Xn»92 stated %% 8% Y998R, it was

not definitive, for it seems that the number, ‘a hundred 2, is X7 X7 -
=959 IN 79 GUN 199N NIN

But rather the Xn>>12 when it said not to make traps within 2°» 7X», it meant even

a thousand % or more is also prohibited. If we make these assumptions -
- 69537 11 9D PRY PINT) 13703 19X 119 NY Y9N DIVA )9 ON

So therefore, one cannot spread out traps even in the desert and extremely far
from the city; this seems incomprehensible —

moo1n offers an alternate reading of the Xn»72 that is more comprehensible:
= N£?9920 NN YWD NN 01PN U991 ENPIT D1 ANNT 99N ON 719%9N)

! The n"27 niAx1 amends this to read 8175 XY 2.
2 R explained that this 71w» does not contradict our mw» which requires distancing only fifty nmX; because even
though doves can fly 0™ 2°wow they eat their fill within fifty nwx.
3 mooin will ask that either the Xn>™2 is not self-consistent (so instead of asking from the X092 on the 71wn, the X3
should first clarify the contradiction in the Xn*"2), or if we can justify the Xn>123, there will automatically not be any
contradiction from the Xn*72 to the m1wn. Why ask a contradiction from the Xn»72 on the mwn?!
4 The n"21 M7 amends this to read 17°9% &R 19 (instead of 170X 12).
3 The simple reading of the Xn»12 when it states 0179 X? 2 781 12°0X means to tell us an exaggerated amount, but it
is not limited to hundred, rather any distance is prohibited.
6 This would then mean that one can never place traps to capture birds. This cannot be what the Xn>92 means!
7 mpoIn writes 1270XY, since the simple reading of the Xn*2 is that any distance is prohibited; even more than 7 x».
8 This means that more than 2> 7x one may place the traps, which is much more reasonable.
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And even if we say that %"» 18» is exact, nevertheless how can we explain the
Nn"Na -
= ©29°Y 1PaY) 1P0919 PN 7N21917 XNIDIN NN *9NT

For this is what the Xn>s92, in the Xnpo1n of 77219% PO, states; ‘we do not set out

traps for doves -
- 10954 DYYHY WD 13 PININ 12 ON NN

Unless he distanced them thirty o9 from the 2y2%%’. The xn>>92 continues -
= 112999 599 9999 1995 D92 XD Y1 NNM 1DON 29w DAN 93793 DYININ D937 NNa

‘When were these words said, in the desert, but in the 22 one should not
spread out his traps even for a distance of > 718%’, how can we reconcile the X5°0
with the Xw™ if 9% is referred to as 212"?!

mooin offers a third approach which would remove the contradiction in the Xn»92:
= 1295997 PRY Y29 92753 DN 0937 N1 IYITD YINT PNYT RPID IN)

And if we assumed that this is the explanation of the X9°0; ‘when are these
words said (that thirty 07 is a sufficient distance from the city) if those thirty 0>
which separated the traps from the city were in a desert’, meaning that there

were no seeds to be found between the city and the traps -
= 13759 NOWP INM 15 ON D199 XY D91 NNM 1DON DIYAT 21U WIT9 21Wa DaN

‘However, 212%°2°, meaning that if the space in between the 721 and the city is
‘settled’ with seeds, then the Xn°72 maintains that even if it is a hundred %
(from the city) 8115° K; since the birds have food along the way, there is no limit
how far they can travel. We have now properly explained the &n>12. However, if

this is what the Xn»72 means, so what therefore is the difficulty between the mwn
and the &n»12?!

Moo answers: 4

o9"nn"n p'a.

10 This Xw™ of the X132 is exactly the same ruling as the 73wn in 2,0y "3, cited in our X3

1 The xw> requires distancing of only thirty o7 from the 21w» (which means the city) and the X9°0 requires

distancing a hundred 9°» from the 2% (the city). This is self-contradictory. Instead of asking from the X2°0 of the

XN°72 on the 7Iwn, the X3 should have asked from the &9°0 of the &Xn>92 on the X1 (which states the exact same

ruling as the mawn)!!

12 Therefore, no birds will fly more than thirty o7 without food in between.

13 The same answer we used to reconcile the X with the X9°0 of the Xn»"3, applies to the 73wn and X2 as well. The

7w (which limits it to thirty 0, is discussing a 7271 (without 2°v77) and the ¥5°0 of the Xn™71 is where it is a 2w

1. Either the Xn»12 is self-contradictory; and if it is not, then there is no question from the 8n»12 to the 7awn. Why is

the X713 concerned about the contradiction the 8n>92 and the 71wn, and not the contradiction in the Xn»92 itself?!

14 The thrust of the s'X"2%™ answer is that the X723 is not (necessarily) posing a contradiction from the Xn>3 to the
2

TosfosInEnglish.com



XInm 77 '010 X,20 2"2.7"02

= 1505997 2991 Y99IRT PNYT NPYD INTT DN9AN 12 PHYY 13929 99IN)
And the R''23%9 says that we certainly assumed that (in the [%9°0 of the] Xn>12)

we are discussing a 2°y97 21w -
= 1605997 29W2 199N ND 1M D9 DIWIY YUY LY 1999 Y9N

So therefore the X713 asks (on »2X); ‘and indeed do they fly only thirty ©>3 and

no more’, even by a 2>y97r 2w -
= NPON DIWMN NIN N1 PRI NIV YUY DIPIT 2IYAT NI XM

But it is evident from the (X2°0 of the) Xn»72 that by 2%y9r 23w they fly much
more than thirty 0™, since the Xn>12 prohibits up to a hundred 2°», and the only

reason for this extension is because of the food -
= RN DIWNNI 1ND99 NN NYT NN

It is therefore evident that they do not fill up their stomachs in fifty 7R, like »ax
maintained but rather they keep on eating as they continue to fly!

n1dOIN cites the s'RN) answer:
= 17051995 2)W 12931V 21YA XIN DIYIT 2IYWA 999N NDT UM

And the X713 answers that the Xn> 72 is not discussing 2°y97r 2% (for even with
the 2°y77 they can travel at most thirty 0™), rather the Xn»72 is discussing 2w
12212 (dovecotes) or 25292 2w (vineyards) —

nooIn responds to an anticipated difficulty:'8
1091999 09921V NIDT NI 9271 29

And the Xn»72 calls 9272 (where the limit is thirty 0°7) a place where there is no

Q%2921 2922 (even though there is 2°y71, since the birds eat their fill in the first fifty nmx, and
there is no 0°n721 2°22W they cannot fly further).

SUMMARY

71wn, but rather the X3 is challenging the answer of »aX, who stated that birds can fly even thirty 0°7, but they eat
only in the first fifty nmx.
15 This means that there are o°y7T between the 72w and the city, so the birds have sufficient food to travel long
distances.
16 »1x answered that they are filled after fifty nwx, but they will fly thirty 0™ without eating any more. This
indicates that even if there is food (2°y77r 21w>) they will only eat by the first fifty nwaX and fly thirty 07 and no more.
But the Xn>»12 stated that they fly % nxn. If not for »ax we could interpret the Xn>»2 that without food they fly thirty
0™, but with food they fly fnx nxn. The reason for this difference must be that when there is food (2°y71 23w) they
continue to eat even past the first fifty nmX. This disproves ™X who maintains they do not eat past the first fifty
NN,
17 They are able to rest in the 0731 122w and be renewed for continued flight.
18 We are now saying that by >v71 21> they can only fly thirty 0™; why does the X012 call a @y77 2w, a 12717/
19 From the perspective of birds, an area which does not have 0°»721 0°22W (to enable them to continue flying) is
called a 727 (even though it has a @°v771 27W™).
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The & m3 is asking on *2X that since we see that birds can fly even a hundred 2°»
even though elsewhere it states they can fly only thirty 0>, this seemingly indicates
that the reason for this difference is that when there is food on the way (2°v1 2w™)
they continue to eat (beyond ;X 2°w°ni1) and to fly (beyond 01 2wow).

THINKING IT OVER
According to the X1p0n of the X773 is the term 2> 1X7' in the Xn*92 precise, or is it
P17 XY and it is 790X even more than 7 xn by o°021w1 071> w220

20 See mwn noMA.
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